France ‘40

JelIL

EX

Al,/D1

BRI RO -

DS = BRI : B A2 v 7N D F- =
W IRAT T EB RS, EEFE S TODB AR

HLZedndzed EERBERRIND, —

Wr [ & U 7= 540 (11.0) 1< AT, TS 1 22k Bt

HEZITES (14.2),

DRM = BA Al R HR A : B EA R AL TR
FLIRIEI 26220 1T 7263 WrRE &L 7= Bh
AWl BRI — T A ETEZ 2 B,

D1 =L, 12Ty 7 %5, EXFE->TH
DEAEERIE, SBAIL CRELIREEICZ D0, U

W & U 7= B8 &2 320 L7l AuE 722 b7, b L
SEFHEMAIA B EIT DL BOBAA 3R — T AR
&S,

A1/D1=%FH L, 1AT v T a2k, FEEk
STODBENL, IBAL TRELIRIBIZZR2 D>,
ST L U7z Bh & F2hE L 22T uid7e b e,
HUGBHER AR AN D& | B 3w 5 125

B2 ATE D TED,

DRX=%MiEL, 12Ty 7 %%k, 2=vhD
BN, HFEHR T LA F— 2L TREESNS,
BHAEMANE IBEIL CIRELIRBEIZ /250>, S Hr
[ & U7 B2 0 L7227 s 0, b L
BHAEMAI DS IR AN 95 &, BCEAANTIE & (28R
AIENRTE,

Wit & L 7B (11.0)

DR =PFG#1AIE, IBEIL CRELRIBIC 220, X
VI E & U7 & FER L 22 AL 7R B, b
LB BAEZN BRI T DL | BORARN 3 |2
ZAED TED,

Al/DR=HML, 12T 7 %55, BiEU
VIRHIL TR ELIREBIC 22 D7, UIWrE ELT7-BS
A I L2 USR5 700, & LG BRI AN 1B
H$ DL, BORA T8 B AT N TE D,

EX=%% & WEIL, 12Ty 7% K), 2=vh
OBYIIFFM T A ¥ —IZL-> TRIEESHS,
BAEMAI OB EN T2, H LB LA T~
DIHEZD NS TNE, WEANTIDTDA~TR
\ZHE AL T L TED GRE ORTEIIRT),

AL=TCRAIE, 1257 555, SRE LA
LR,

D1x*, Al/D1% DRX*= W& & U7-BHEINAS AT
RETHLIELERRE, ZE D1, A1/D1, DR
XERU,

B (20.4)
FrDH AR
1 No/Al
2—3 No

4—6 Yes

DRMs :

—1 2=y QL E
+1 =2=yrTQA=TY—h
+1 ERE IR =k

DRMIZE 173,

BEIHIE 1= (9.0)
KBRNIZHF TP

1R #EHT 7k
1R #iZ X IFHQX 4% (9.3, 9.4)
1 XIX2R TQE#(9.5)

B 53 06 (K 10 _E 1)
[ AEIRI A3 TR BLAR B8 (13.1)

Br#ENIE R 7R
1L HEH71(9.2)

1 X132l TQE#E(9.5)

1L FEFEf~TR

1L To— N fp~—h—

LI FDFERIE D0 TDIEYY
N

- FEHFA T (18.4)

< KA Z# 2 CHOEBL TD

sV A THERL TS

I FRA~Z A DI 2 B TN D

ATEER (14.2) :
B HN—F= L
FEREHRAL 2 2 2 T A ONWTIE, TECE S,
B I 2 3 3
H B #A{b & 1 A ik 2 3 4
RA> B o R 3 4 4
HFEZ (18.5) B (15.3)
$10H ﬁ: 4z v 5—1 6—1 7—1 8—1 9—110—1
1—4 — 127y 1 = = = — [7-1] Yes
5—6 IS 2 — — — [6-1] Yes Yes
FIMTIKFED 2= MNZDUT 3 = — [6-1] Yes Yes Yes
Y 1E1ORS, 4 — [4-1] Yes Yes Yes Yes
5 [3-1] Yes Yes Yes Yes Yes
F 1D HEIE: 6 Yes Yes Yes Yes Yes Yes

+1 2=y hDTQBTY—h

—1 2=yhDTQRLHE

+2 HLlbz=y MK ELRE
TOFEH I AIIKE
B2 =y rETHT N

+1 bLlba=vd LD+
QDB REEFFIZ 2D, K
LT DR~ 2%
HQETWFhhrDRED
LOS%-ENnbE,

DEIDLOSE-ENDE,

AIREL S TR : 3 L TQD 2
FEEDFH -

— CBRRH R RR, AT I3 E L L e b e,

[#-#]8k[H 2358 4 . CRT Lot ESNIC Bt =Z
LEMALTYAZIRD, 7P XITEERL,

Yes: BB, Bl 2~ ZBHIL  RELKRE
12725 (%, T TITIRELIRE CHAVUTTE &) .
BURARN . BB % R A TR TX D,




